CH:25 Study Guide

The Industrial Revolution
1. The process of urbanization that occurred in 19th century Britain and elsewhere in western Europe was mainly a result of 

2. All early factories had to be located

3. The newest type of engine developed for industrial use during the late 1700s was powered by

4. Which of the following inventions was entirely dependent on the invention of the steam engine?

5. “Macadam” roads had an advantage over earlier roads in that they were
6. The Luddites were a group of British workers who took violent action to protest

7. Adam Smith is known for his defense of 

8. During the 1800s, the major difference in the ways that men and women were treated in American factories was that women were

9. Samuel Crompton, James Hargreaves, Robert Fulton, and Edumund Cartright were all significant 

10. Which of the following was the first to abolish slavery?

11. The Industrial Revolution in both England and the United States began in the _____ industry.

12. In 1829, the port of Liverpool was connected to the industrial city of Manchester by a _____

13. In the 19th century, _____ supported and defended laissez-faire policies 

14. By 1800, the largest city in Europe was _____

15. In Great Britain, as in the United States, the Industrial Revolution encouraged the _____ of the middle class

16. When Belgium and Germany began to industrialize on a large scale, they looked primarily to ______  for guidance.

17. Karl Marx described _____ as the final phase of history in which society would be classless and the means of production would be owned by all.

18.  Why did the Industrial Revolution occur in Great Britain before it occurred elsewhere in Europe?

19. Why might have the philosophy of communism appealed to many 19th- century factory workers?
